THISFE7RAERS REKER

RE BEEFBEEERACHREHME

B & 4% % & E B BmE R
e fREHMmMEXREZE 0157 b= 1
FRHAHEH fAE Mt XEBE 0157 = 1%
WEZ v L&T—HY fREHMmMEXREZE 0157 b= 1
FRIAIZRL(BYh) rEHMmEXEBE 0157 b= %
1) — L (HEH14)1000m REHMEXEBE 0157 = %
ZAMYZAIZL fE M REEE 0157 = %
|50 fREHMmMEXEZEE 0157 b=
HAHZ fE M REEE 0157 = %
HA&Z () fREHmMEXBZEE 0157 b=
Y—R(ISR1K) e MM REZE 0157 = %
Y IbF—X10g BREHMMEXEE 0157 b2
REV)—LEZELRI) frEHMmEXEBE 0157 = %
XEHV)—L(FIaKE) fAEHmEXBE 0157 = &
F3aL—ko—L e MM KIZE 0157 = %
DEZAITRL(HYE) frEtmEXEBE 0157 b= %
HIAYTRE—R frEHMmEXEBE 0157 = %
SHEERAE) fAE Mt XBE 0157 = &
EAITHF—X(HALD) g M KIZE 0157 = %
INLAF U F—Z60g frEtm4EXEBE 0157 [E
—O&XX fREHMmMEXREZEE 0157 b= %
FX fAE Mt XBE 0157 [E 3
SUMFHEM D) g MM KIZE 0157 = %




THISFE7RAERS REKER

BRE BEEHBHEASHEETHRERE
B & 4% % & BH H BmE R
SUMNF(KE) fREHMmMEXREZE 0157 =
SYDFDY-D) EHMmEXEBE 0157 b= %
SUNFEZRT1vI0DHY) g MM KIZE 0157 = %
MARF—X fAE Mt XEBE 0157 b= 1%
BX fREHMmMEXEZEE 0157 = 1
BEHE frEHMmEXBE 0157 = %
TIAR—XRARLYI T (UFARIR) fREHMmMEXEZEE 0157 = 1
TAR—XARLYI T GRER) frEHMmEXBE 0157 = %
BMNEIXZ fREHmMEXBZEE 0157 = 1
HH<hH frEHMmEXEBE 0157 = %
BEH<HERYIY) fAEHmEXBE 0157 = &
3—7%JL(100ml) e M KIZE 0157 = %
A—J I Ma7a7T5R)80g fAEHmEXBE 0157 = &
MBI —YE)—(5RES)50g frEHMmEXEBE 0157 = %
MBI IL—YE)—(5ES)60g frEtmEXEBE 0157 b= 1%
AEIIL—YE)—(RES)70g frEHMmEXEBE 0157 = %
REZIL—YE)—(H4)50g frE M KEZE 0157 = %
ARHLOT1L - #H1)40g g M KIZE 0157 = %
MEHLTIS1M40g fAE Mt XBE 0157 = %
MEHLTIT150g g M KIZE 0157 = %
MARARBTEALIT fAE Mt XBE 0157 [E 3
MEERBITERESIT fREHMmMEXREZEE 0157 b= %
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BRE BEEHBHEASHEETHRERE
B & 4% % & BH H BmERKE
AEVDHLIAL R 55408 g M KIZE 0157 = %
AEIAFT—(HLUE) fAE Mt XEBE 0157 = 1%
AESTHIF(HVR) BEHMEXRBEE 0157 b2 %
MEIEA fAE Mt XEBE 0157 b= 1%
aERIN fREHMmMEXEZEE 0157 b=
BEALLYTL—Y) frEHMmEXEBE 0157 = %
MEMNMIBPEIL fREHMmMEXEZEE 0157 b=
ARYa—Y frEHMmEXEBE 0157 = %
MRJ)E—R REHMEXRBEE 0157 = %
MRIBREDOE) frEHMEXBE 0157 = %
ARER(RDE-10ghybh) fAEHmEXBE 0157 = &
AEBRARDE 5¢hvyh) frEHMmEXEBE 0157 = %
AREBARRDE-8gAVR) fAEHmEXBE 0157 = &
MRBREDOELL-10ghYh) fREHMmEXEBE 0157 = %
MEBRAEDEDLEL-15ghvb) fAEHmEXBE 0157 = &
ARBRARDELE -5gHVh) fAE Mt XBE 0157 b= 1%
AREBARD2ELE-8ghVH) fAE Mt XBE 0157 = &
ARIBHERIEL -5gh k) g M KIZE 0157 = %
AEBRRELEL - EA) BEHMERBEE 0157 b2 %
ARINS LR ) g M KIZE 0157 = %
mEEE(H1E)30g fAE Mt XBE 0157 [E 3
ARE(E(H1R)30g g MM KIZE 0157 = %
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BRE BEEHBHEASHEETHRERE
B R 4 & E A BE#®E
ARSI (H1R)40g g M KIZE 0157 = %
ARE(E(H15)50g EHMmEXEBE 0157 b= %
AESE(HIE-AY) fREHMmMEXREZE 0157 =
ARSHL(H1)40g fAE Mt XEBE 0157 b= 1%
AELLeH16g g I KIZE 0157 = %
AEBAVAITFATERIL frEHMmEXEBE 0157 = %
MEE)—FH L )60g g I KIZE 0157 = %
WR)T—RA=FY frEHMmEXEBE 0157 = %
MEREEAL fREHmMEXBZEE 0157 b=
AREF frEHMEXBE 0157 = %
AEFXUNIN—550g fAEHmEXBE 0157 = &
BEFHRUNDIN—160g g M KIZE 0157 = %
AEFEXUR—I fAEHmEXBE 0157 = &
ARFEUR—ILILAN—AY) fAE Mt XBE 0157 b= 1%
MEREE fAEHmEXBE 0157 = &
REBYHAL frEHMmEXEBE 0157 = %
MEEE fAE Mt XBE 0157 = &
MAEE[EFe g M KIZE 0157 = %
AEESLAILECL fAE Mt XBE 0157 = %
MRBINHIT g M KIZE 0157 = %
AEFBEMT)40g fAE Mt XBE 0157 [E 3
ARIFHGE M- D) g MM KIZE 0157 = %
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BRE BEEHBHEASHEETHRERE
B R 4 & E A B E#E
nREE g M KIZE 0157 = %
AEBRRLL fAE Mt XEBE 0157 b= %
HEBFAHEBmm X 3 X 3em) g MM KIZE 0157 = %
ARBERLLGER fAE Mt XEBE 0157 b= %
AERRLLAER) fREHMmMEXEZEE 0157 b=
ARBEAA—X(3mm X 1 X 3cm) fE M REEE 0157 = %
BEIZUITILNFYR)Tem g I KIZE 0157 = %
AEAN—OU(HYE) frEHMmEXEBE 0157 = %
AERILZRINLGBYR) g I KIZE 0157 = %
MEIF Y508 frEHMEXBE 0157 bE
MELCERE fAEHmEXBE 0157 = &
mRHT< frEHMmEXEBE 0157 = %
R BERK fAEHmEXBE 0157 = &




